Trig 7.5

Solve trig equations
Solve trig inequalities
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Solve x> + 6x =0
X (xL6)=0
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Principal values
(Which quadrants should | look in?)
Depends on which function it is.
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Solve each equation for porciEs==iaes of x. Express solutions in degrees
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1. express using only one trig function (parking lot)
Sol h tion forf 0° < x < 360° 2. factor, maybe QF to solve
olve each equa IOI"_‘I 0 X y &9 @) ‘)

V3 : . :
@sln xcotx =—— - 8. cos 2x = sin x — 2

L Lo 0,00
. 1D
S‘/& CoSX = & | 5% Ay = STnix — 2-
1

gi/'& _ \Y\7'¥ -\-&S;V\‘ZX _ 2700'._1)
+—3 0
- : 2 :
L~ COSX_L@ +I2h SSinRs MY Sinxs 1
=
S0 PEIeT Xelass
e \f\ ‘2‘.
Iﬂﬂ' re sometimes undefined.. S MZK:\I\ h X4 O)Z. 70

(divide by O: unjt circle...graphs...)
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Solve sin x cos x — - cos x = 0 for principal values of x. Express solutions
i in degrees. — -
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Express using tlfe same trig function for al]l.. factor/solve for x= 'B; (b\ | ) 11— 3/”‘
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Same trig function
Solve each equation for @Il real values of x.
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+ 2tan x +
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Are there ever any values where tan is undefined? (might need to DQ an ans¥ver)
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Maybe x-factor...factor by groupmg, QF etc. , ’7 7 2 b o
Solve each equation for O = x < 2.

9.3tan’x—-1=0 10. 2sin’x=5sinx + 3

Are there ever any values where tan is undefined?



